
Center Seat Frame Assembly
Recline Only (2GR)



Center Seat Frame Assembly
Recline Only (2GR)

Item
Number Part Number DescriptionNote

Quantity Per
Package Assembly

1086944-NLA NLA - Screw, Socket Head (5/16-18 x 3/4") 1 61
1082878-NLA NLA - Bracket, Acutator Support, Black - Right 1 12
1082879-NLA NLA - Bracket, Actuator Support, Black - Left 1 12

1026158 Locknut (5/16-18) 1 73
1031665 Screw, Shoulder Hex Socket Head (3/8 x 1-1/2",

5/16-18)
1 14

1082750 Actuator Motor Assembly, Recline 1 15
1012371 Washer, Nylon (3/8 x 7/8 x 1/16") 1 146

1087022-NLA NLA - Link, Recline - Right 1 17 A,A1,B
1087023-NLA NLA - Link, Recline - Left 1 17 A,A1,B
1110497-NLA NLA - Link, Recline 0 and 5 Degree Seat Tilt, Black

- Right
1 17 C

1110498-NLA NLA - Link, Recline 0 and 5 Degree Seat Tilt, Black
- Left 

1 17 C
1110499-NLA NLA - Link, Recline 10 and 15 Degree Seat Tilt,

Black - Right
1 17 C

1110500-NLA NLA - Link, Recline 10 and 15 Degree Seat Tilt,
Black - Left

1 17 C
1065214 Washer, Flat (3/8 x 11/16 x 1/16") 1 48

1086930-NLA NLA - Ring, Retaining (3/8") 1 49
1082876-NLA NLA - Spacer (3/8 x 3/4 x 3/8") 1 210

1025704 Washer, Flat (5/16 x 5/8 x 1/16") 1 211
1079203 Decal, Warning Pinch Point 1 212

1091500-NLA NLA - Kit, Connecting Slide Bracket w/ Decal, Black
- Right

1 113
1091501-NLA NLA - Kit, Connecting Slide Bracket w/ Decal, Black

- Left
1 113

1098944-NLA NLA - Screw, Socket Head w/ Patch (1/4-20 x 3/4") 1 414
1095352-NLA NLA - Block, Gear Hold Down Upper 1 215
1091503-NLA NLA - Bushing (1/4 x 1/2 x 7/16") 1 416
1026035-NLA NLA - Locknut (#10-24) 1 417

1000212 Screw, Shoulder Hex Socket (1/4 x 1-1/4", #10-24) 1 418
1095476-NLA NLA - Dual Roller Assembly - Right 1 119 D
1095477-NLA NLA - Dual Roller Assembly - Left 1 119 D

A - Front pivot bracket made before 5/20/02 is no longer available. For seating systems manufactured before 5/20/02, see 
Front Pivot Bracket and Links Kit page and order Kit part number 1112693.  

A1 - To maintain an existing, 5, 10, or 15 degree seat tilt, only recline links made after 5/19/02 are required.  
B - Before 5/20/02  
C - After 5/19/02  
D - Includes 2 each of items 16-18  

NOTE:

 


